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~m¡{ÜXH$ j‘Vm narjU (Mental Ability Test)

n[ajm{W©¶m| Ho$ {bE gyMZm

àíZm| Ho$ CÎma XoZo go nyd© {ZåZ gyMZm Ü¶mZnyd©H$ n{‹T>>E& 

1.	� CÎma A§{H$V H$aZo Ho$ {bE AmnH$mo AbJ go EH$ H$m~©Zbog CÎman{ÌH$m Xr OmEJr& Cgr na Amn 
AnZo CÎma A§{H$V H$a|Jo& narjm g‘¶ g‘mßV hmoZo Ho$ níMmV² AmnH$mo dh H$m~©Zbog à{V ‘yb 
CÎman{ÌH$m go AbJ H$a narjm Ho$ n[aUm‘ AmZo VH$ ñd¶§ Ho$ nmg g§^mbH$a aIZr hmoJr&

2.	� AmnH$m H|$Ð g§Ho$Vm§H$ Am¡a ~¡R>H$ H«$‘m§H$ àíZn{ÌH$m Ho$ ‘wIn¥ð> na Xr JB© OJh na gwñnï> {b{IE 
(EH$ ImZo ‘| EH$ hr A§H$ Bg àH$ma)& ñd¶§ H$m ~¡R>H$ H«$‘m§H$ {bIZo Ho$ nyd© Om±M H$s{OE {H$ 
¶h àdoe nÌ Ho$ AZwgma ghr h¡ ¶m Zht& ¶h {ZpíMV H$a| {H$ H$moB© ^r ImZm [a³V Zht aho&

	 CXmhaU :-

CENTRE CODE  H|$Ð g§Ho$Vm§H$ 1 1 0 2

SEAT NO.  ~¡R>H$ H«$‘m§H$ M 3 3 9 2 2 1 1 0 2 1 2 3

3.	 �¶h {ZpíMV H$a b| {H$ AmnH$mo CÎma {bIZo Ho$ {bE ~m¡{ÕH$ j‘Vm narjU (Mental Ability Test) 
H$s CÎman{ÌH$m {‘br h¡ ¶m Zht&

4.	� Bg {df¶ Ho$ {bE 90 àíZ h¢& àË¶oH$ àíZ Ho$ {bE 1 A§H$ h¡&

5.	 g^r àíZ hb H$aZm A{Zdm¶© h¡&

6.	� àË¶oH$ àíZ Ho$ CÎma Ho$ {bE àíZnwpñVH$m ‘| Mma {dH$ën {XE JE h¢& Cg‘| go ¶mo½¶ {dH$ën 
XoIH$a VWm Cg H«$‘m§H$ H$m Jmobm H$mbo ¶m Zrbo ~m°bnoZ go nyam ^a H$a CÎma H$mo A§{H$V H$s{OE& 
¶h H$m¶© AmnH$s CÎman{ÌH$m na ¶mo½¶ àíZ Ho$ gm‘Zo H$aZm h¡ àíZn{ÌH$m na Zht&

7.	 nhbo àíZ go ewwéAmV H$a EH$ Ho$ ~mX EH$ àíZ hb H$aVo hþE A§{V‘ àíZ VH$ hb H$a|&

8.	� ¶{X AmnH$mo {H$gr àíZ H$m CÎma Zht AmVm Vmo Cg na A{YH$ g‘¶ Z bJmE±& AJbo àíZ hb 
H$a|& g^r hb H$aZo Ho$ ~mX, ~Mo g‘¶ ‘| ~Mo hþE àíZm| na Amn nwZ: {dMma H$a gH$Vo h¢&

9.	� àíZm| H$mo hb H$aZo Ho$ [bE {‘bm g‘¶ Ü¶mZ ‘| aIH$a BgH$m A{YH$-go-A{YH$ C{MV Cn¶moJ 
H$a|& H$ÀMm H$m¶© àíZn{ÌH$m Ho$ àË¶oH$ n¥ð> na {XE JE [a³V ñWmZ na H$[aE&

10.	� Bg àíZnwpñVH$m ‘| H|$Ð g§Ho$Vm§H$, ~¡R>H$ H«$‘m§H$ Am¡a H$ÀMm H$m¶© BgHo$ A{V[a³V Hw$N> ^r Zht 
{bIZm h¡&
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MENTAL ABILITY TEST
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.	� Answers are to be bubbled only on the separate  carbonless Answer sheet provided 
to you. After examination detach the carbonless copy from original Answer sheet 
& keep carbonless copy with you till the declaration of result.

2.	� Please write your Center Code & Seat No. very clearly (only one digit in one 
block) on question paper. Before writing your seat no. ascertain it with Hall ticket. 
Please see that no block is left blank or unfilled.

	 Example :

CENTRE CODE 1 1 0 2

SEAT NO. M 3 3 9 2 2 1 1 0 2 1 2 3

3.	 Please ensure that you have received Mental Ability Test answer sheet.

4.	� Total number of questions are 90 for this paper. All questions carry one mark each.

5.	 All questions are compulsory.

6.	� For each question there are four options given in question paper. Check for the 
correct answer and bubble correct option from four circles given in answer sheet 
by Black/Blue pen. Please do not write any answers on question paper.

7.	 Start answering from first question one after another till the last question.

8.	� If you do not know the answer of any question, do not spend much time on it and 
pass on to the next one. If time permits, you can come back to the questions which 
you have left in the first instance and try them again.

9.	� Utilize the allotted time for solving the questions in best possible way. The rough 
work is to be done in the box given under each page.

10.	� Do not write anything except Center Code, Seat No. and rough work anywhere in 
this booklet
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à. 001 go 004 gyMZm : Ag§JV nX nhMm{ZE&

001. (1)	 TVX		 (2)	 BDF	 (3)	 RPN	 (4)	 MOQ

002. (1)	 DL		  (2)	 CH	 (3)	 DF	 (4)	 AX

003. (1)	 POCG	 (2)	 KLIZ	 (3)	 BUDX	 (4)	 FQMV

004. (1)	 JLOS		 (2)	 GILQ	 (3)	 MORV	 (4)	 CEHL

à. 005 go 007 gyMZm : Ag§JV AmH¥${V nhMm{ZE&

005.

	

MAT-MARATHI-QP. 5

 




1 2 3 4

	

MAT-MARATHI-QP. 5

 




1 2 3 4

	

MAT-MARATHI-QP. 5

 




1 2 3 4

	

MAT-MARATHI-QP. 5

 




1 2 3 4	 (1)	 (2)	 (3)	 (4)

006.

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4	 (1)	 (2)	 (3)	 (4)

007.

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4	 (1)	 (2)	 (3)	 (4)



5 of 48
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Q. 001 to 004  Directions: Find the odd term.

001. (1)	 TVX		 (2)	 BDF	 (3)	 RPN	 (4)	 MOQ

002. (1)	 DL		  (2)	 CH	 (3)	 DF	 (4)	 AX

003. (1)	 POCG	 (2)	 KLIZ	 (3)	 BUDX	 (4)	 FQMV

004. (1)	 JLOS		 (2)	 GILQ	 (3)	 MORV	 (4)	 CEHL

Q. 005 to 007   Directions: Find the odd figure.

005.

	

MAT-MARATHI-QP. 5

 




1 2 3 4

	

MAT-MARATHI-QP. 5

 




1 2 3 4

	

MAT-MARATHI-QP. 5

 




1 2 3 4

	

MAT-MARATHI-QP. 5

 




1 2 3 4	 (1)	 (2)	 (3)	 (4)

006.

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4	 (1)	 (2)	 (3)	 (4)

007.

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4

	
1 2 3 4	 (1)	 (2)	 (3)	 (4)
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à. 008 go 011 �gyMZm : AmJo Ho$ àíZ ‘| àW‘ nX H$m Xÿgao nX go O¡gm g§~§Y h¡ d¡gm hr g§~§Y Vrgao d Mm¡Wo nX ‘| 

h¡, dmo g§~§Y Ty>±T>H$a àíZ{MZ²h Ho$ ñWmZ na C{MV n¶m©¶ {bIo&

008. KNM : RFV  : :  SVC : ?

(1)	 YBK				   (2)	 ZNL

(3)	 XMK				   (4)	 HEX

009. PUNE : KFMV   : :   NIRA : ?

(1)	 MRJY			   (2)	 MJHZ

(3)	 MSIZ				   (4)	 MRIZ

010. EPKT : JSPW   : :   QBHE : ?

(1)	 VEKH			   (2)	 VMEH

(3)	 VEMH			   (4)	 VGML

011. DGP : MNV   : :   MKD : ?

(1)	 XSJ				    (2)	 WTK

(3)	 YTK				    (4)	 JSW

à. 012 VWm 013 �gyMZm : a‘oe CÎma H$s Amoa 6 {H$‘r MbHo$ J¶m& ~mX‘| Xm{hZr Amoa ‘w‹S>H$a 5 {H$‘r OmH$a ~m±¶r 

Amoa 3 {H$‘r J¶m& dhm± go X{jU H$s Amoa 7 {H$‘r OmH$a éH$ J¶m& Vmo {ZåZ àíZ H$m CÎma Xr{OE&

012. ‘yb ñWmZgo dmo {H$VZr Xÿar na h¡?

(1)	 0 {H$‘r	 (2)	 4 {H$‘r	 (3)	 2 {H$‘r	 (4)	 6 {H$‘r

013. ‘yb ñWmZgo dmo H$m¡Zgr {Xem ‘| h¡?

(1)	 nyd©	 	 (2)	 npíM‘	 (3)	 CÎma	 (4)	 X{jU
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Space for Rough Work
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Q. 008 to 011  �Directions: In the following questions there is a specific relationship between the first and 
second term, The same relationship exists between the third and the fourth term. Finding 
the relationship select the correct term from the alternatives given.

008. KNM : RFV  : :  SVC : ?

(1)	 YBK				   (2)	 ZNL

(3)	 XMK				   (4)	 HEX

009. PUNE : KFMV   : :   NIRA : ?

(1)	 MRJY			   (2)	 MJHZ

(3)	 MSIZ				   (4)	 MRIZ

010. EPKT : JSPW   : :   QBHE : ?

(1)	 VEKH			   (2)	 VMEH

(3)	 VEMH			   (4)	 VGML

011. DGP : MNV   : :   MKD : ?

(1)	 XSJ				    (2)	 WTK

(3)	 YTK				    (4)	 JSW

Q. 012 and 013  �Directions: Ramesh starts moving to North. He walks 6 km and turns right and walks 
5 km, turning left he walks 3 km. At this point he turns South and stops after walking 
7 km. Answer the following questions.

012. How far he is from the origin?

(1)	 0 km		  (2)	 4 km	 (3)	 2 km	 (4)	 6 km

013. To which direction is he facing from the original position?

(1)	 East		  (2)	 West	 (3)	 North	 (4)	 South
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à. 014 go 017 gyMZm : H«$‘go àíZ{MÝh Ho$ ñWmZ na C{MV n¶m©¶ H$m¡Zgm hmoJm?

014. 4, 9, 25, 49, ?
(1)	 81		  (2)	 121	 (3)	 64	 (4)	 100

015. 2, 17, 5, 12, 9, 8, 14, ?
(1)	 5		  (2)	 15	 (3)	 13	 (4)	 22

016. 7, 23, 49, 149, ?
(1)	 305		  (2)	 301	 (3)	 249	 (4)	 204

017. 6, 22, 46, 78, ?
(1)	 108		  (2)	 110	 (3)	 106	 (4)	 118

à. 018 go 020 �gyMZm : g§b½Z AmH¥${V ‘| Hw$N> KZ go EH$ aMZm V¡¶ma H$s hþB© Xem©¶r h¡& Cg AmYma na {ZåZ{b{IV 

àíZm| Ho$ Odm~ {XE JE n¶m©¶m| go Ty>±T>mo&

P
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Space for Rough Work
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Q. 014 to 017  �Directions: Which number will replace the question mark in the given series?

014. 4, 9, 25, 49, ?
(1)	 81		  (2)	 121	 (3)	 64	 (4)	 100

015. 2, 17, 5, 12, 9, 8, 14, ?
(1)	 5		  (2)	 15	 (3)	 13	 (4)	 22

016. 7, 23, 49, 149, ?
(1)	 305		  (2)	 301	 (3)	 249	 (4)	 204

017. 6, 22, 46, 78, ?
(1)	 108		  (2)	 110	 (3)	 106	 (4)	 118

Q. 018 to 020  �Directions: Cubes of same size are arranged as given in the following figure, observe the 
figure and answer the questions by choosing the correct alternative given below.

P
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018. JQ²>Qy> P Ho$ {H$VZo n¥îR> AÝ¶ JQ²>Qy> Ho$ n¥îR>m| H$mo ñne© H$aVo h¡?

(1)	 4		  (2)	 3	 (3)	 2	 (4)	 1

019. ZrMo go Xÿgao ñVa ‘| {H$VZo KZ Cn¶moJ ‘| bm¶o JE h¡?

(1)	 5		  (2)	 8	 (3)	 9	 (4)	 10

020. Cna go n{hbo d Xÿgao ñVa H$mo {‘bH$a {H$VZo KZ BñVo‘mb {H$E JE h¡?

(1)	 1		  (2)	 3	 (3)	 4	 (4)	 5

à. 021 VWm 022 �gyMZm : g§JV ‘| Xr JB© AmH¥${V H$m {ZarjU H$aHo$ {ZåZ{b{IV àíZm| Ho$ CÎma XrE JE n¶m©¶m| ‘| 

go Mw{ZE&

MAT-MARATHI-QP. 5

 




1 2 3 4

MAT-MARATHI-QP. 6

1 2 3 4

MAT-MARATHI-QP. 7

MAT-MARATHI-QP. 21

1 2 3 4

021. AmH¥${V ‘| dJm] H$s g§»¶m {H$VZr h¡?

(1)	 6		  (2)	 8	 (3)	 10	 (4)	 12

022. dJ© Z hmoZodmbo Am¶Vm| H$s g§»¶m {H$VZr h¡?

(1)	 9		  (2)	 10	 (3)	 12	 (4)	 13

à. 023 VWm 024 �gyMZm : A{‘V, JUoe, arZm, gr‘m, ‘hoe, ‘rZm ¶o d¥ÎmmH$ma Q>o~bna ~¡R>o h¢& ‘rZm H$s ~m±¶r Amoa 

A{‘V d Xm¶r Amoa JUoe h¡& A{‘V Ho$ gm‘Zo gr‘m h¡& {H$gr ^r b‹S>Ho$ Ho$ ~m±¶r d Xm¶r Amoa àW‘ 

ñWmZna b‹S>H$m Zht ~¡R> h¡& Vmo AmJo {XE JE àíZm| Ho$ CÎma {b{IE&

023. ‘hoe Ho$ gm‘Zo H$m¡Z ~¡R>m h¡?

(1)	 gr‘m				    (2)	 ‘rZm	

(3)	 A{‘V				   (4)	 JUoe
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018. How many faces of cube ‘P’ touch the faces of other cubes?
(1)	 4		  (2)	 3	 (3)	 2	 (4)	 1

019. How many cubes are there in the second last layer?
(1)	 5		  (2)	 8	 (3)	 9	 (4)	 10

020. Find the total number of cubes in the first two layers.
(1)	 1		  (2)	 3	 (3)	 4	 (4)	 5

Q. 021 and 022  �Directions: Observe the following figure and answer the questions by selecting the 
correct alternatives given below.

MAT-MARATHI-QP. 5

 




1 2 3 4

MAT-MARATHI-QP. 6

1 2 3 4

MAT-MARATHI-QP. 7

MAT-MARATHI-QP. 21

1 2 3 4

021. Find the number of squares in the figure.
(1)	 6		  (2)	 8	 (3)	 10	 (4)	 12

022. Find the number of rectangles which are not squares.
(1)	 9		  (2)	 10	 (3)	 12	 (4)	 13

Q. 023 and 024  �Directions: Amit, Ganesh, Reena, Seema, Mahesh and Meena are sitting around a round 
table. Amit is sitting left to Meena and Ganesh is towards right. Seema is sitting opposite 
to Amit. Towards the left or right of any boy in consecutive position no boy is seated. 
Answer the following question.

023. Who is sitting opposite to Mahesh?
(1)	 Seema			   (2)	 Meena
(3)	 Amit				    (4)	 Ganesh
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024. JUoe Ho$ ~m±¶r Amoa H$s ì¶³Vr Ho$ gm‘Zo H$m¡Z h¡?

(1)	 A{‘V		 (2)	 gr‘m	 (3)	 ‘hoe	 (4)	 [aZm

à. 025 go 027 �gyMZm : AmJo {XE JE àíZ ‘| Ajam| H$m EH$ {d{eîQ> g‘yh {X¶m h¡& {XE JE n¶m©¶m| ‘| go EH$ n¶m©¶ 

Cg g‘wh go {‘bVm h¡& dmo C{MV n¶m©¶ {bI|&

025. CJ, KF, GL
(1)	 HD		  (2)	 PT	 (3)	 RK	 (4)	 MV

026. KOM, AYC, HRJ
(1)	 FTH		  (2)	 YCW	 (3)	 KPQ	 (4)	 CXW

027. IJ, CP, RA
(1)	 OP		  (2)	 MF	 (3)	 DL	 (4)	 AQ

028. ¶{X {H$gr gm§Ho${VH$ ^mfm ‘| REMOTE ¶h eãX ROTEME Eogm {bIm Vmo PICNIC ¶h eãX H¡$go 

{bImoJo?

(1)	 CINCIP			   (2)	 PNIICC
(3)	 PCIINC			   (4)	 PCINCI

029. {H$gr gm§Ho${VH$ ^mfm ‘| WED ¶h eãX 7826 Bg àH$ma {bIm Vmo FRI ¶h eãX {H$g àH$ma {bImoJo?

(1)	 12921	 (2)	 9186	 (3)	 12219	 (4)	 6189

030. {H$gr gm§Ho${VH$ ^mfm ‘| ARTI ¶h eãX 60 Eogm {bIm, Vmo Cgr gm§Ho${VH$ ^mfm ‘| DEVI ¶h eãX H¡$go 

{bImoJo?

(1)	 40		  (2)	 67	 (3)	 63	 (4)	 68

031. {H$gr gm§Ho${VH$ ^mfm ‘| D = 4 Am¡a DEAR = 7 hmo, Vmo Cgr gm§Ho${VH$ ^mfm ‘| HOTEL ¶h eãX H¡$go 

{bImoJo?

(1)	 12		  (2)	 13	 (3)	 14	 (4)	 15
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024. Who is sitting opposite to the person who is sitting to the left of Ganesh?
(1)	 Amit		  (2)	 Seema	 (3)	 Mahesh	 (4)	 Reena

Q. 025 to 027  �Directions: In the following questions a specific group is given from the given alternatives. 
Find out the right term which matches the given group.

025. CJ, KF, GL
(1)	 HD		  (2)	 PT	 (3)	 RK	 (4)	 MV

026. KOM, AYC, HRJ
(1)	 FTH		  (2)	 YCW	 (3)	 KPQ	 (4)	 CXW

027. IJ, CP, RA
(1)	 OP		  (2)	 MF	 (3)	 DL	 (4)	 AQ

028. In a certain code language the word REMOTE is written as ROTEME. How will you write the  
word PICNIC in the same code language?
(1)	 CINCIP			   (2)	 PNIICC
(3)	 PCIINC			   (4)	 PCINCI

029. In a certain code language the word WED is written as 7826. How will you write the word FRI in 
the same code language?

(1)	 12921	 (2)	 9186	 (3)	 12219	 (4)	 6189

030. In a certain code language the word ARTI is written as 60. How will you write the word DEVI in 
the same code language?

(1)	 40		  (2)	 67	 (3)	 63	 (4)	 68

031. In a certain code language D = 4 and DEAR = 7 then in the same code language how will you 
write the word HOTEL?

(1)	 12		  (2)	 13	 (3)	 14	 (4)	 15
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à. 032 go 034 �gyMZm : AmJo {XE JE àíZmo ‘| g§»¶mAm| H$m EH$ {d{eîQ> g‘wh {X¶m h¢& {XE JE n¶m©¶m| ‘| go EH$ 

n¶m©¶ Cg {d{eîQ> g‘wh go {‘bVm h¡, dmo n¶m©¶ {b{IE -

032. 51, 119, 85
(1)	 57		  (2)	 104	 (3)	 131	 (4)	 221

033. 23, 29, 37
(1)	 13, 15, 23			   (2)	 17, 21, 29
(3)	 31, 37, 49			   (4)	 41, 47, 53

034. 10 - 35,  12 - 42,  8 - 28
(1)	 32 - 80	 (2)	 24 - 84	 (3)	 20 - 50	 (4)	 14 - 72

à. 035 go 037 �gyMZm : {ZåZ{b{IV àË¶oH$ àíZ ‘| àíZ AmH¥${V {d{eîQ> H«$‘ go ~XbVr h¡& Cgr H«$‘ go àíZ{MZ²h 

Ho$ ñWmZ na {XE JE n¶m©¶m| ‘| go H$m¡Zgr AmH¥${V AmEJr ¶o {ZpíMV H$amo&

035. àíZ AmH¥${V¶m± -

	

?
	

?
	

?
	

?
CÎma AmH¥${V¶m± -

	

?

	

?

	

?

	

?

	 (1)	 (2)	 (3)	 (4)
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Q. 032 to 034  �Directions: In each of the following questions find out the term that matches the given 
group.

032. 51, 119, 85

(1)	 57		  (2)	 104	 (3)	 131	 (4)	 221

033. 23, 29, 37

(1)	 13, 15, 23			   (2)	 17, 21, 29

(3)	 31, 37, 49			   (4)	 41, 47, 53

034. 10 - 35,  12 - 42,  8 - 28

(1)	 32 - 80	 (2)	 24 - 84	 (3)	 20 - 50	 (4)	 14 - 72

Q. 035 to 037  �Directions: In each of the following questions the question figure changes in a definite way. 
Find out the correct figure from the alternative figures that replaces the question mark.

035. Question figures

	

?
	

?
	

?
	

?
Answer figures

	

?

	

?

	

?

	

?

	 (1)	 (2)	 (3)	 (4)
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036. àíZ AmH¥${V¶m± -

	

?
	

?
	

?
	

?
CÎma AmH¥${V¶m± -

	

?

	

?

	

?

	

?

	 (1)	 (2)	 (3)	 (4)

037. àíZ AmH¥${V¶m± -

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(CÎma AmH¥${V¶m± -

	

?÷


(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(
÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷


(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷


(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	 (1)	 (2)	 (3)	 (4)
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036. Question figures

	

?
	

?
	

?
	

?
Answer figures

	

?

	

?

	

?

	

?

	 (1)	 (2)	 (3)	 (4)

037. Question figures

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(Answer figures

	

?÷


(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷



(
÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷


(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	

?÷


(

÷



(

× (

÷

 ( 

×

(

 ÷

(

×

(

	 (1)	 (2)	 (3)	 (4)
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038. Xr J¶r àíZ AmH¥${V H$s Xn©U ‘| à{V‘m H¡$gr {XIm¶r XoJr ¶o ZrMo Xr J¶r CÎma-AmH¥${V¶m| Ho$ n¶m©¶ ‘| go 

Mw{ZE&

àíZ AmH¥${V				    CÎma AmH¥${V¶m±

 1 2 3 4
            

 1 2 3 4
				    (1)		  (2)				    (3)	   	 (4)	

à. 039 VWm 040 �gyMZm : JrVm, gwOmVm, ApídZr, d§XZm ¶o gho{b¶m± h¢& ApídZr N>mo‹S>H$a g~H$mo {MHy$ ng§X h¡& 

JrVm H$mo A‘éX d Ho$bo ng§X Zht h¢& JrVm d d§XZm H$mo A§Jya ng§X h¢& gwOmVm, ApídZr, d§XZm H$mo 

A‘éX ng§X h¢& ApídZr A‘éX d Ho$bo Mmd go ImVr h¢& JrVm Ho$ Abmdm g~H$mo Ho$bo ng§X h¢& 

Vmo {ZåZ{b{IV àíZm| Ho$ CÎma {b{IE&

039. {H$gH$mo {g’©$ VrZ ’$b ng§X h¢?

(1)	 JrVm				    (2)	 gwOmVm	

(3)	 d§XZm				    (4)	 ApídZr

040. {H$gH$mo Mmam| ’$b ng§X h¢?

(1)	 ApídZr			   (2)	 gwOmVm	

(3)	 d§XZm				    (4)	 JrVm

à. 041 VWm 042 �gyMZm : G R A O C U E BZ Ajam| Ho$ X²dmam EH$ AW©nyU© eãX V¡¶ma hmoVm h¡ Vmo {ZåZ{b{IV 

àíZm| Ho$ CÎma {b{IE&

041. Cg eãX Ho$ ~rM ‘| AmZodmbo Aja H$m A§J«oOr dU©‘mbm ‘| ñWmZ H$m H«$‘m§H$ H$m¡Zgm h¡?
(1)	 19				    (2)	 20
(3)	 18				    (4)	 15
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038. Directions: Choose the correct mirror image of the question figure from the alternatives given 
below.

Question figure					     Answer figures

 1 2 3 4
            

 1 2 3 4
				    (1)		  (2)				    (3)	   	 (4)	

Q. 039 and 040  �Directions: Geeta, Sujata, Ashwini and Vandana are friends. Except Ashwini all like 
chikoo. Geeta does not like guava and banana. Geeta and vandana like grapes. Sujata, 
Ashwini and Vandana all like guava. Ashwini loves eating guavas and bananas. Except 
Geeta all like to eat bananas. Then answer the following questions.

039. Who loves to eat only three fruits?
(1)	 Geeta				   (2)	 Sujata
(3)	 Vandana			   (4)	 Ashwini

040. Who likes to eat all four types fruits?
(1)	 Ashwini			   (2)	 Sujata
(3)	 Vandana			   (4)	 Geeta

Q. 041 and 042  �Directions: A meaningful word is formed from the letter G R A O C U E. Then answer 
the following questions.

041. Write the number in the alphabetical order of the letter which is at the centre of the meaningful 
word.
(1)	 19				    (2)	 20
(3)	 18				    (4)	 15
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042. Cg eãX H$m AmIar Aja go Xþgam Aja A§J«oOr dU©‘mbm ‘| H$m¡Zgo H«$‘m§H$ na AmVm h¡?
(1)	 6				    (2)	 15
(3)	 5				    (4)	 7

043. Xr J¶r àíZ AmH¥${V H$s pñWa nmZr ‘| {H$g àH$ma H$s à{V‘m {XIm¶r XoJr ¶o CÎma AmH¥${V¶m| Ho$ C{MV n¶m©¶ 

‘| go Mw{Z¶o&

àíZ AmH¥${V				    CÎma AmH¥${V¶m±	

           
				    (1)		  (2)				    (3)	   	 (4)

à. 044 go 047 gyMZm : Ag§JV nX nhMm{ZE&

044. (1)	 15 - 40			   (2)	 18 - 56

(3)	 24 - 76			   (4)	 12 - 28

045. (1)	 133				    (2)	 326

(3)	 515				    (4)	 429

046. (1)	 200				    (2)	 500

(3)	 700				    (4)	 600

047. (1)	 18 - 27			   (2)	 16 - 24

(3)	 14 - 22			   (4)	 12 - 18
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042. Write the number in the alphabetical order of the letter which is second last in the meaningful 
word.
(1)	 6				    (2)	 15
(3)	 5				    (4)	 7

043. Directions: Choose the correct water image of the question figure from the alternatives given 
below.
Question figure					     Answer figures

           
				    (1)		  (2)				    (3)	   	 (4)	

Q. 044 to 047  Directions: Find the odd term.

044. (1)	 15 - 40			   (2)	 18 - 56

(3)	 24 - 76			   (4)	 12 - 28

045. (1)	 133				    (2)	 326

(3)	 515				    (4)	 429

046. (1)	 200				    (2)	 500

(3)	 700				    (4)	 600

047. (1)	 18 - 27			   (2)	 16 - 24

(3)	 14 - 22			   (4)	 12 - 18
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à. 048 VWm 049 �gyMZm : ZrMo Xr J¶r AmH¥${V H$mo ‘moS>Zona EH$ KZ V¡¶ma hmoVm h¢& Cg AmYmana {ZåZ{b{IV àíZm| 

Ho$ CÎma {b{IE&

1 2
3
4
5 6

048. 1 A§H$ Ho$ gm‘Zo H$m¡Zgm A§H$ Am¶oJm?

(1)	 3				    (2)	 4

(3)	 5				    (4)	 6

049. 3 A§H$ Ho$ g§b½Z H$m¡Zgm A§H$ Zht Am¶oJm?

(1)	 1				    (2)	 4

(3)	 5				    (4)	 6

à. 050 VWm 051 �gyMZm : {XE JE nmaXe©H$ dJm©H¥${V H$mJO H$mo ‘mo‹S>Zona V¡¶ma hmoZodmbr AmH¥${V {XE JE n¶m©¶ ‘| 

go Mw{ZE&

050. àíZ AmH¥${V		  CÎma AmH¥${V¶m±

 1 2 3 4
           

 1 2 3 4				    (1)		    (2)				      (3)	   	 (4)	
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Q. 048 and 049  �Directions: The following figure is folded to form a cube. Observe the figure and answer 
the questions by choosing the correct alternative.

1 2
3
4
5 6

048. Which digit will be on the opposite face of 1?

(1)	 3				    (2)	 4

(3)	 5				    (4)	 6

049. Which digit will not be adjacent to the face of 3?

(1)	 1				    (2)	 4

(3)	 5				    (4)	 6

Q. 050 and 051  �Directions: A transparent square sheet of paper is folded on the dotted line as shown in 
the question figure. Choose the correct alternative from the answer figures as how the 
paper will look when folded?

050. Question figure					     Answer figures

 1 2 3 4
           

 1 2 3 4				    (1)		    (2)				      (3)	   	 (4)	
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051. àíZ AmH¥${V		  CÎma AmH¥${V¶m±

 1 2 3 4
           

 1 2 3 4				    (1)		   (2)				     (3)	   	 (4)	

à. 052 go 054 �gyMZm : gmW ‘| {XE JE Ajam| Ho$ ñVyn H$m {ZarjU H$a|& CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma Ho$ {bE 

C{MV n¶m©¶ Mw{ZE&
o

n       m
j       k       l

i       h       g       f
a       b       c       d       e

z       y       x       w       v       u
n       o       p       q       r       s       t

m       l       k       j       i       h       g       f
w       x       y       z       a       b       c       d       e

052. mlxw, zyon, wvrq, ?

(1)	 ihba				    (2)	 axpq

(3)	 pqaz				    (4)	 xwij
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051. Question figure					     Answer figures

 1 2 3 4
           

 1 2 3 4				    (1)		   (2)				     (3)	   	 (4)	

Q. 052 to 054  �Directions: Observe the pyramid of alphabet and answer the questions that follow by 
choosing the correct alternative.

o
n       m

j       k       l
i       h       g       f

a       b       c       d       e
z       y       x       w       v       u

n       o       p       q       r       s       t
m       l       k       j       i       h       g       f

w       x       y       z       a       b       c       d       e

052. mlxw, zyon, wvrq, ?

(1)	 ihba				    (2)	 axpq

(3)	 pqaz				    (4)	 xwij
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053. biajz, efdgc, tusvr, ?

(1)	 nokzy			   (2)	 qxpyo

(3)	 cwrhg			   (4)	 abcde

054. nlykp : tgchr   : :   aijhc : ?

(1)	 aypxc				   (2)	 evrwc

(3)	 jnoml				   (4)	 eflgc

à. 055 VWm 056 �gyMZm : ZrMo EH$ hr JQ²>Qy> H$s VrZ pñW{V¶m| H$s AmH¥${V¶m± Xem©¶r J¶r h¢& CZ AmH¥${V¶m|H$m {ZarjU 

H$aHo$ AmJo Ho$ àíZm| Ho$ {bE ghr CVao {b{IE&

 (i) (ii) (iii)

A

B
C

D

C
E

F

E
B

055. B Aja Ho$ {déÕ n¥îR>^mJna H$m¡Zgm Aja hmoJm?

(1)	 C				    (2)	 D

(3)	 E				    (4)	 F

056. AmH¥$Vr (iii) Ho$ AmYma Ho$ n¥îR>^mJna H$m¡Zgm A§H$ hmoJm?

(1)	 A				    (2)	 D

(3)	 E				    (4)	 C
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053. biajz, efdgc, tusvr, ?

(1)	 nokzy			   (2)	 qxpyo

(3)	 cwrhg			   (4)	 abcde

054. nlykp : tgchr   : :   aijhc : ?

(1)	 aypxc				   (2)	 evrwc

(3)	 jnoml				   (4)	 eflgc

Q. 055 and 056  �Directions: Three different positions of a cube are shown in the figure. Observe the figure 
and answer the following questions.

 (i) (ii) (iii)

A

B
C

D

C
E

F

E
B

055. Which letter will be on the opposite face of B?

(1)	 C				    (2)	 D

(3)	 E				    (4)	 F

056. In the figure (iii) which letter will be there at the base face of the cube?

(1)	 A				    (2)	 D

(3)	 E				    (4)	 C
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à. 057 go 060 �gyMZm : {ZåZ{b{IV àË¶oH$ àíZ‘| àË¶oH$ Aja 0 go 9 A§H$moHo$ g§Ho$V hm|Jo& ¶{X AP × DP = BBB 

Vmo AmJo Ho$ àíZ Ho$ {bE C{MV n¶m©¶ Mw{ZE&

057. P H$m ‘mZ {H$VZm hmoJm?

(1)	 2				    (2)	 3

(3)	 9				    (4)	 7

058. ‘A’ H$m ‘mZ {H$VZm hmoJm?

(1)	 3				    (2)	 4

(3)	 5				    (4)	 6

059. B H$m ‘mZ {H$VZm hmoJm?

(1)	 6				    (2)	 7

(3)	 8				    (4)	 9

060. AP + DP H$m ‘mZ {H$VZm hmoJm?

(1)	 54				    (2)	 64

(3)	 68				    (4)	 74

à. 061 VWm 062 �gyMZm : EH$ dJm©H¥${V H$mJO H$mo ‘mo‹S>Zona {XIZodmbr AmH¥${V àíZ AmH¥${V ‘| Xem©¶r J¶r h¡& Vmo 

H$mJO H$m ‘mo‹S> ImobZona H¡$go {XIm¶r XoJm ¶o CÎma AmH¥${V¶m| ‘| go T>±yT>mo&

061. àíZ AmH¥${V		  CÎma AmH¥${V¶m±

 1 2 3 4
           

 1 2 3 4				      (1)		     (2)			       	 (3)	   	 (4)	
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Q. 057 to 060  �Directions: In a certain code language digit 0 to 9 are used for each Letter.  
If  AP × DP = BBB. Then answer the following questions by choosing the correct alternative.

057. Find the value of P.

(1)	 2				    (2)	 3

(3)	 9				    (4)	 7

058. Find the value of A.

(1)	 3				    (2)	 4

(3)	 5				    (4)	 6

059. Find the value of B.

(1)	 6				    (2)	 7

(3)	 8				    (4)	 9

060. Find the value of AP + DP.

(1)	 54				    (2)	 64

(3)	 68				    (4)	 74

Q. 061 and 062  �Directions: The folded figure of square paper is shown in the question figure. If it is 
unfolded what will it look like? Select the correct alternative.

061. Question figure					     Answer figures

 1 2 3 4
           

 1 2 3 4				      (1)		     (2)			       	 (3)	   	 (4)	
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062. àíZ AmH¥${V		  CÎma AmH¥${V¶m±

 1 2 3 4
           

 1 2 3 4
				    (1)		  (2)				    (3)	   	 (4)	

à. 063 go 065 �gyMZm : {ZåZ{b{IV àíZm| ‘| n{hbr Am¡a Xÿgar AmH¥${V ‘| {d{eîQ> g§~§Y h¡ d¡gm hr g§~§Y Vrgar d 

Mm¡Wr AmH¥${V ‘| h¢& dmo g§~§Y Ty>±T>H$a àíZ{MÝh Ho$ ñWmZna AmZodmbr C{MV AmH¥${V Ty>±{T>E&

063. àíZ AmH¥${V¶m± 

 1 2 3 4

?• •
• •

•
•

•
•

CÎma AmH¥${V¶m± 

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	 (1)	 (2)	 (3)	 (4)
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062. Question figure					     Answer figures

 1 2 3 4
           

 1 2 3 4
				    (1)		  (2)				    (3)	   	 (4)	

Q. 063 to 065  �Directions: In the following questions there is a specific relation between first and second 

figure. The same relationship exists between the third and the fourth figure which will 

replace the question mark. Select the correct figure from the alternatives given below each 

question.

063. Question figures

 1 2 3 4

?• •
• •

•
•

•
•

Answer figures

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	 (1)	 (2)	 (3)	 (4)
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064. àíZ AmH¥${V¶m± 

 1 2 3 4

?• •
• •

•
•

•
•

CÎma AmH¥${V¶m± 

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	 (1)	 (2)	 (3)	 (4)

065. àíZ AmH¥${V¶m± 

 1 2 3 4

?• •
• •

•
•

•
•

CÎma AmH¥${V¶m± 

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	 (1)	 (2)	 (3)	 (4)
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064. Question figures

 1 2 3 4

?• •
• •

•
•

•
•

Answer figures

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	 (1)	 (2)	 (3)	 (4)

065. Question figures

 1 2 3 4

?• •
• •

•
•

•
•

Answer figures

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	
 1 2 3 4

?• •
• •

•
•

•
•

	 (1)	 (2)	 (3)	 (4)
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à. 066 go 068 �gyMZm : {ZåZ{b{IV AmH¥${V ‘| dJ© J{UVk Xem©Vm h¡& {Ì^wO g§ñH¥$Vk Xem©Vm h¡& Am¶V B{VhmgVk 

Xem©Vm h¡& d¥Îm ‘{hbm Xem©Vm h¡& Vmo {ZåZ{b{IV àíZm| Ho$ CÎma {b{IE&

I

A B

C D FE

H
G

J

K

066. {g’©$ J{UVk ‘{hbm H$m¡Zgo Aja X²dmam Xem©¶r J¶r h¢?

(1)	 G				    (2)	 C

(3)	 H				    (4)	 E

067. g^r {df¶m| ‘| {ZnyU ‘{hbm H$m¡Zgo Aja X²dmam Xem©¶r J¶r h¡?

(1)	 B				    (2)	 A

(3)	 G				    (4)	 C

068. {g’©$ B{VhmgVk ‘{hbm H$m¡Zgo AjaX²dmam Xem©¶r J¶r h¡?

(1)	 E				    (2)	 F

(3)	 I				    (4)	 H
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Q. 066 to 068  �Directions: In the following Venn diagram square represents a mathematician, a triangle 
represents the persons expert in Sanskrit, a rectangle represents the persons who are expert 
in History and a circle represents ladies. Then answer the following questions.

I

A B

C D FE

H
G

J

K

066. Which letter represents lady mathematicians?

(1)	 G				    (2)	 C

(3)	 H				    (4)	 E

067. Which letter represents ladies who are expert in all the subjects?

(1)	 B				    (2)	 A

(3)	 G				    (4)	 C

068. Which letter represents ladies who are expert in History?

(1)	 E				    (2)	 F

(3)	 I				    (4)	 H
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à. 069 VWm 070 gyMZm : {ZåZ{b{IV KQ>H$ H$m¡Zgr doZ AmH¥${V X²dmam Xem©¶o Om gH$Vo h¢?

069. S>m°³Q>a, dmMH$, nwéf

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4	 (1)	 (2)	 (3)	 (4)

070. {Ibm‹S>r, hm°H$s Ho$ {Ibm‹S>r, boIH$

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4	 (1)	 (2)	 (3)	 (4)

à. 071 VWm 072 �gyMZm : Ajam| H$s b¶~X²Y aMZm Ho$ AmYmana [a³V ñWmZna H$m¡Zgo Aja hm|Jo, ¶o {XE JE n¶m©¶ 

‘| go {b{IE&

071. – w x – p – x x p – x x – w – x
(1)	 x w p x p x			   (2)	 x p w x p w
(3)	 p x w w p x			   (4)	 p w x p w x

072. m p x y m – x – m – x y
(1)	 p p m				   (2)	 x p m
(3)	 p x y				    (4)	 p y p
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Q. 069 and 070  �Directions: Select the correct Venn diagram from the given alternatives to represent the 
following element.

069. Doctor,  Reader,  Gents

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4	 (1)	 (2)	 (3)	 (4)

070. Players,  Hockey players,  Authors

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4

	
 1 2 3 4	 (1)	 (2)	 (3)	 (4)

Q. 071 and 072  �Directions: A rhythmic arrangement of alphabet is given, the missing letter appear in the 
same order as in one of the alternatives given. Select the correct alternative.

071. – w x – p – x x p – x x – w – x
(1)	 x w p x p x			   (2)	 x p w x p w
(3)	 p x w w p x			   (4)	 p w x p w x

072. m p x y m – x – m – x y
(1)	 p p m				   (2)	 x p m
(3)	 p x y				    (4)	 p y p
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à. 073 VWm 074 gyMZm : AmJo Xr J¶r g§»¶m e¥§Ibm H$m JbV nX Ty>±T>mo&

073. 5, 27, 61, 122, 213, 340
(1)	 27				    (2)	 61
(3)	 213				    (4)	 340

074. 8, 13, 21, 32, 47, 63, 83
(1)	 21				    (2)	 32
(3)	 47				    (4)	 63

à. 075 go 078 �gyMZm : {H$gr gm§Ho${VH$ ^mfm ‘| ANTHEM ¶h eãX Mma AbJ-AbJ àH$ma go {bIm h¡& dmo 

gm§Ho${VH$ ̂ mfm nhMmZH$a AmJo Ho$ àíZm| Ho$ eãX Mma ‘| go H$m¡Zgr gm§Ho${VH$ ̂ mfm ‘| {bIm h¡ dmo Ty>±T>mo&

		  eãX		  gm§Ho${VH$ ^mfm
		  ANTHEM =	 (1)	 CPVJGO
			   (2)	 NAHTME 
			   (3)	 ZMGSVN 
			   (4)	 BNVHHM

075. NATION = MZGRLM

076. FLAG = HNCI

077. SALUTE = ASULET

078. TAGORE = UAIOUE
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Q. 073 and 074  �Directions: Find the odd term from the following.

073. 5, 27, 61, 122, 213, 340
(1)	 27				    (2)	 61
(3)	 213				    (4)	 340

074. 8, 13, 21, 32, 47, 63, 83
(1)	 21				    (2)	 32
(3)	 47				    (4)	 63

Q. 075 to 078  �Directions: In a certain code language the word ANTHEM is written in four different code 
languages. Observe the code language given below and select the correct answer.

		  Word		  Code Language

		  ANTHEM =	 (1)	 CPVJGO
			   (2)	 NAHTME 
			   (3)	 ZMGSVN 
			   (4)	 BNVHHM

075. NATION = MZGRLM

076. FLAG = HNCI

077. SALUTE = ASULET

078. TAGORE = UAIOUE
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à. 079 VWm 080 �gyMZm : {ZåZ{b{IV àíZm| ‘| H$moîQ>H$ Ho$ ~mha H$s g§»¶mAm| H$m H$moîQ>H$ Ho$ A§Xa H$s g§»¶m Ho$ 

gmW hmoZodmbm {d{eîQ> g§~§Y Ü¶mZ ‘| boH$a àíZ{MZ²h Ho$ ñWmna H$m¡Zgr g§»¶m hmoJr ¶o {XE JE 

n¶m©¶m| ‘| go Mw{ZE&

079. 52 (98) 37
23 (48) 61
47 (?) 32
(1)	 79		  (2)	 83	 (3)	 97	 (4)	 84

080. 27 (34) 64
343 (75) 125
8 (?) 512
(1)	 28		  (2)	 41	 (3)	 16	 (4)	 82

081. 5 {gV§~a 2017, ‘§Jbdma Ho$ {XZ {‘bo hþE XmoñVm| Zo ~mX‘| ~mb{XZ H$s V¡¶mar H$aZo Ho$ {bE ~mb{XZ Ho$ 

n{hbo {XZ {‘bZm {ZpíMV {H$¶m Vmo do H$m¡Zgo {XZ {‘b|Jo?

(1)	 a{ddma		 (2)	 gmo‘dma	 (3)	 ‘§Jbdma	 (4)	 ~wYdma

à. 082 go 085 gyMZm : AmJo Ho$ àíZm| ‘| H«$‘go H$m¡Zgo Ajam| H$m g‘yh hmoJm?

082. AZ, MN, BY, LO, CX, ?
(1)	 EV		  (2)	 KP	 (3)	 JQ	 (4)	 GT
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Q. 079 and 080  �Directions: In the following questions one number in each row is in bracket. Numbers 
outside the bracket have some specific relation with the number inside the bracket. Find 
the relation and replace the question mark from the alternatives given below.

079. 52 (98) 37
23 (48) 61
47 (?) 32
(1)	 79		  (2)	 83	 (3)	 97	 (4)	 84

080. 27 (34) 64
343 (75) 125
8 (?) 512
(1)	 28		  (2)	 41	 (3)	 16	 (4)	 82

081. Some friends met each other on Tuesday, 5th September 2017. They decided to celebrate ‘Childrens 
Day’. For the preparation they decided to meet again on the day before ‘Childrens Day’. On which 
day they will meet for preparation?
(1)	 Sunday	 (2)	 Monday	 (3)	 Tuesday	 (4)	 Wednesday

Q. 082 to 085  �Directions: Which term will replace the question mark in the given series?

082. AZ, MN, BY, LO, CX, ?
(1)	 EV		  (2)	 KP	 (3)	 JQ	 (4)	 GT



42 of 48

a’$ H$m¶© hoVy ñWmZ

NMMS-MAT-21-22 VIII M3

083. RE, PG, MJ, IN, ?
(1)	 DS		  (2)	 ET	 (3)	 EN	 (4)	 DP

084. AZY, CXW, EVU, GTS, ?
(1)	 JQP		  (2)	 HSR	 (3)	 IRQ	 (4)	 KPO

085. BXD, EUG, HRJ, ?
(1)	 KPL		  (2)	 KQI	 (3)	 KPJ	 (4)	 KOM

086. AnyU© AmH¥${V nyU© hmoZo Ho$ {bE C{MV n¶m©¶ Mw{ZE&

àíZ AmH¥${V		  CÎma AmH¥${V¶m±

 1 2 3 4

××

×

× × ×
×

                 
 1 2 3 4

××

×

× × ×
×

              
 1 2 3 4

××

×

× × ×
×

                
 1 2 3 4

××

×

× × ×
×

                 
 1 2 3 4

××

×

× × ×
×

				    (1)		  (2)				    (3)	   	 (4)	

à. 087 go 090 �gyMZm : AmJo Ho$ àíZm| ‘| n{hbo nX H$m Xÿgao nX go O¡gm g§~§Y h¡ d¡gm hr g§~§Y Vrgao d Mm¡Wo nX ‘| 

h¢& dh g§~§Y Ty>±T>H$a àíZ{MZ²h Ho$ ñWmZ na C{MV n¶m©¶ Mw{ZE&

087. 17 : 41   : :   21 : ?

(1)	 44		  (2)	 45	 (3)	 46	 (4)	 42
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083. RE, PG, MJ, IN, ?
(1)	 DS		  (2)	 ET	 (3)	 EN	 (4)	 DP

084. AZY, CXW, EVU, GTS, ?
(1)	 JQP		  (2)	 HSR	 (3)	 IRQ	 (4)	 KPO

085. BXD, EUG, HRJ, ?
(1)	 KPL		  (2)	 KQI	 (3)	 KPJ	 (4)	 KOM

086. Directions: An incomplete figure is give in the question figure. Select the correct alternative to 
complete the figure.
Question figure					     Answer figures

 1 2 3 4

××

×

× × ×
×

                 
 1 2 3 4

××

×

× × ×
×

              
 1 2 3 4

××

×

× × ×
×

                
 1 2 3 4

××

×

× × ×
×

                 
 1 2 3 4

××

×

× × ×
×

				    (1)		  (2)				    (3)	   	 (4)	

Q. 087 to 090  �Directions: In the following questions there is a specific relationship between the first and 
the second term. The same relationship exists between the third and the fourth term, which 
will replace the question mark. Select the correct alternative from the given alternative.

087. 17 : 41   : :   21 : ?

(1)	 44		  (2)	 45	 (3)	 46	 (4)	 42
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088. 47 : 19   : :   ? : 26

(1)	 57		  (2)	 77	 (3)	 56	 (4)	 46

089. 17 : 20   : :   68 : ?

(1)	 69		  (2)	 72	 (3)	 70	 (4)	 75

090. 5 : 100   : :   8 : ?

(1)	 120		  (2)	 504	 (3)	 80	 (4)	 448
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088. 47 : 19   : :   ? : 26

(1)	 57		  (2)	 77	 (3)	 56	 (4)	 46

089. 17 : 20   : :   68 : ?

(1)	 69		  (2)	 72	 (3)	 70	 (4)	 75

090. 5 : 100   : :   8 : ?

(1)	 120		  (2)	 504	 (3)	 80	 (4)	 448
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